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INSTRUCTIONS TO THE CANDIDATES

The sealed Question Booklet containing 100 questions enclosed with O.M.R. Answer Sheel is given fo
you.
Verify whether the given question booklet is of the same subject which you have opted as in your
Admission Ticket. :
Open the question paper seal carefully and take out the enclosed OMR Answer Sheet outside the
question booklet and fill up the general information from Sl. No. 1 to 10 of OMR Answer Sheet. If you
fail to fill up the details in the form of alphabet and signs as instructed, you will be personally
responsible for consequences arising during scoring of your answer sheet,
Enter the Question Paper Booklet Sl. No. in the OMR Answer Sheet at Sl. No. 4
Enter the Code of the subject you opted in the SI. No. 8 of OMR Answer Sheet.
(@) During the Examination :- Read each question carefulily.
(b) Select the correct answer out of the four choices given under each question.
Completely darken/shade the relevant circle against Question No. in the OMR Answer Sheet.
For Example, in a question paper if SI. No. 3 is correct answer for questicn No. 20, then darken
before SI. No. 20 of OMR Answer Sheet using blue / black ball point pen as follows.

20. CD @ . @ (Only example)

Rough work should be done only on the blank space provided in the Question Booklet. Rough work
should not be done on the O.M R. Answer Sheet.

If more than one circle is darkened for a given question, such answer is treated as wrong and no mark
will be given. See the exa mple in OMR Answer Sheetl.

The candidate and the Room Supervisor should sign in the OMR Sheet at specified place. Candidate
has to put left hand thumb impression at specified place compulsorily, Corrections/Overwriting on
OMR Answer Sheet will be not entertained.

Each of the candidate is given carbonless O.M.R. sheet in duphcate Candicate should return the
original O.M.R. Answer sheet to the Room Supervisor and retain carbonless copy of the same
with him after the examination.

Calculator, pager & mobile phones are not allowed inside the examination hall.

If a candidate is found committing malpractice, such a candidate shall not be considered for

recruitment and action will be taken against such candidate as per rules.
INSTRUCTIONS TO FILL UP THE O.M.R. ANSWER SHEET

There is only one correct answer for each question.
All entries in the circle must be made with BLUE or BLACK ball point pen only. Do not try to

alter the entry.
Circle should be darkened completely so that the numeral inside the circle is not visible.

Do not make any stray marks on this sheet.
This is a carbonless Answer Sheet. There is no need to shade the second copy separately.
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BIOLOGICAL SCIENCE
Chemistry
1. Among the following compounds, 1. 8 VNS oINS Brodd @omo
the bond length between the carbon HESPEONY SR 2050
atom is shortest in - dﬁ 3 88N 32 o
(1) Ethane (1) eidest
(2} Ethene 2) Speat
(3) Ethyne (3) gqqp-b‘
(4) Benzene (4) Jolex®
2, The law which describes the 2. AT 3@, waouny g, @
relationship between the volume and SOTIINY JERIT ROWOPIRY
temperature of a gas at constant NBadis Dot -
pressure is called (1) 2modts Dobab
(1) Boyle’s law
(2) WOPER Aodad
(2) Charles law
(3) Dalton’s law (3) mcﬂaﬁ NOSLED
(4) Avogadro’s law (4) Bmd@)‘f Q03D
3.  The oxidation number of Chromium 3. K,Cr,0, ) BRLAODOR
in K,Cry07 1 O3,He o Roal,
(1 +7 (1) +7
(2) +5 (2) 5
(4) +4
4y +4
4. Identify the exothermic process 4. & BYNIYNYY &TOFE
among the following : 3,030, THOTOSA.
(1) melting of solid (1) TIIWIS TOTHE
(2) evaporation of liquid (2) TR SRS SDCIRTDNT
(3) sublimation of solid (3) TS TR VI
(4) combustion of solid (4) FS DRI BB
O BS | Paper-11
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S.

7.

Ethyne is prepared by the action of

water on

( AlLC,
(2) CaC,
(3) CaCO,

(4) (CH,CO0),Ca

Benzene does not undergo addition
reaction casily because

(1) it has a cyclic structure.

(2) double bonds in it are very

strong.

(3) resonance stabilized system is
to be prescrved.

(4) it has six hydrogen atom,

[f 2 gm of wrea is dissolved in 38 gm
of water, then tlie percentage of urea
by mass in the solution 1s

(1) 5%
2) 95%
(3) 5.26%
(4)  9.5%

The zig-zag motion of colloidal
particles was first observed by

(1) John Tyndal
(2) Robert Brown
(3) Zsigmondy
(4) Ostwald

Paper-II

(3)

SigR¢ JosmdIch Nech ol
ToRONNT DRIORLODT
SIS ?

(1) AIC,

(2) CaC,

(3) CaCoO,

(4) (CH,CO0),Ca

eJoden®t  esddesw 8,0HoDHd
=T TRy AT 520

(1) H3od il Bweodd.

(2) vogdod &dwanﬁ'.fa
2JeE3INES.

(3) TS éu’é a:ﬁédﬁaja
XoTE 1.

(4) es0) BRIT TSNP,

2 Mo obwdoiemm), 38 Mo
DR OCITNAWT,  TIe-
ZOHE  ohwdode  FETedoD
B30Tl WFSIED

(1) 5%
2) 95%
(3) 5.26%
4)  9.5%

FOONY BROB) d@@ﬁﬁ
BURoDT ANIATIOIATAT} TATAISY

(1) 25a° Lomev®
(2) OTETE LTOST
(3) Ak
(4) z.mf_imvg

0l BS
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10.

11.

" @ BS

An example of a covalent crystalline

solid is
(1) Sio,
(2) CaF,

(3) NaC/

@) CiHy[CI9)]

Colligative

solutions are those which depend

upon

(1) nature of the solvent

(2) nature of the solute

(3) the number of solvent
molecules

(4) the number of  solute
particles

In H,O, fuel cell the reaction

occurring at cathode is

(1) 2H,(g) + O,(g)— 2H,0()

H'(aq) + OH (ag)—>
H,O(/)

(2)

(3) O,(g) + 2H,0() + 47 —

40H(aq)

1
(4) H'aq)+te— 5 H,(g)

properties of

(4)

9.

10.

il.

8 YASYHrVY IS, meIE
FIDRDIN YVTETE

(1)
(2)
(3)
(4)

Si'-C)2
CaF,
NaC/

CroHy [

apkx TN HOTOURNDC) TN

00BNt 903

(1) CREsE RIS

(2) TREE AR

(3) ST VRN ﬁnajé

(4) o9 6deasa:rff.fﬁ'oajﬁ

H,-0, A05s 2et30 sbmns WP
SEodws 3,00

(1) 2Hy(g) + O5(g) — 2H,0()

H'(aq) + OH T(aq) —
H,O(/)

(2)

(3) Oy(g + 2H,0(/) + de= —

40H~(aq)
l
(4) H*(aq)+e—> 3 Hyl®)

Paper-II
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12. Which among the following, is a 12. & BVNSINVYY FRecatiort
thermosetting plastic ? TR T B, THTOIAR.
(1) Polypropylene (1) méﬁ%&'ﬁa“
(2) Polystyrene (2) m@%tpﬁﬁ'
(3) Melamine (3) E.’owd)ﬁ“
(4) Polyethene (4) TOEsPeER’
13. The Electronic Configuration of 13. RAnctlodo B030ON (Na™)
sodium ion (Na*) is adazva“ th?ﬂ@
{1) ]SE 253 zpﬁ35| (|) ]SE 251 2pl’1 35'
(2) Is*2s72pb (2) 152252 2p°
(3) 1s?2s% 2p° 357 (3) 1s? 2s? 2p® 3s°
2 9e2 95
(4) 15”257 2p (4)  1s?2s? 2p°
14. Which is acid salt ? 14, eeod U= o3P !
(1) NaC/
(1) NaCl/
2) Na,SO '
(2) Na,S0, (2) Na,SO,
3
(3) NaNoO, (3) NaNO,
(4)  NaHSOQ, (4) NaHSO,
15.  The general formula of cyclo-alkane 15. Agp edestny ORI AR,
IS
(1) CnHzn -2
(1) CnHI—!u -2
(2} CnH2u+2 a2
3) CH (3) C.H,
(4) CnH?_" (4) CnHZH
Paper-II O BS
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16.

17.

18.

19.

a BS

The 3™ transition metal ion is
diamagnetic with the electronic
configuration 1s

(1) 3d?
(2) 3d"
(3) 3d’
4) 3d"

The main constituent of amalgam 1s

(1) Fe
(2) Hg
(3) Au
(4) Os

Identify the correct matching :

Alloys

i. Nichrome a.
ii. Alnico b.

iii. Invarsteel c.

Uses

Heating coils
i i

(1) c b a

(2) c a b

(3) b C a

(4 b a C

Among the following, index for the
gold number is

(1) protective gold
(2) gold present in ornaments
(3)  extent of gold plating done

presence of electric charge on
colloid

(4)

Artificial magnets

Measuring tape

(6)

16.

17.

Soess  enFErm ROTFW
dnebeod @okaRd B3 VNS
2wy & DTRFY  wodwe-
Fo03eoDaNE

(1) 3d*
(2) 3d°
(3) 3d’
4) 3d"™

SRRSO FTFn) T

(1) Fe
(2) Hg
(3) Au
(4) Os

18. EOCING BromocdEodiy HTH3R.

19.

g eletE envgodeen
1, éj@fu‘ﬂ’" a. 3S% 5903
i. ed3e b. Y3TE
iii. @Qe®=00® C. Wzﬁﬁﬁ‘%
BB, prelesly
1 il
(1) ¢ b a
(2) ¢ a b
3) b C a
(4) b a c

233, HosJodw, 8 FYAR o3RRHTO
BRAT ?

(1) TgmosE FOU (B,3%E3%)

(2) @ ionnddE Uy,

(3) UIB DTS 3

@) 20T oedTT TN

Paper-1l
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20.

21.

22.

23.

The substance
hydrogen bond

(1) HCI
(2) H,0

(3) HI
(4) H,S

havinyg strongest

Catalyst used in the hydrogenation
of oils

(1) Mg

(2) Fe

(3) V,0.

4) Ni

The chemical formula of “Blue

Vitriol" is

(1) CuSO,

(2) CuSO,-5H,0
(3) CuCl

4) Cu(NO,),

Match the
discoveries :

scientists and their

Scientists Discoveries

1. Kolbe a.
1. Berthelot b.

11, Michael Faraday c.

Urea
Acetic acid
Methane

tv. Fredrich Wohler d. Benzene

i Hi v
(1)
(2)
(3)
4)

o o o T =
B O L G
e B B OO

a
C
d
C

Paper-l11

(7)

20.

21,

22,

23.

ZEo303T0
BROHTOS TAY
(1) HC/
(2) H,0
(3) HI
4) H,S

HUBIT

20

DENY BLRLRITIREY R

o3I FEE

(1) Mg
(2) Fe
(3) V,0s

(4) Ni

23 A30INUT (D Heod3) T

OXo0DNE TRZ,
(I) CuSO,

(2) CuSO,-5H,0

(3) CuCl,
(4) Cu(NO,),

DERANYD DY) WIT ST

Ny DRODAD.
augamb

i Bwed)
. WRELLIT
i, a&atﬁuﬂ‘ E;J_E}ﬁUL'o’

Hamﬁdﬂw
a. oxnedoiwn
b. eIzt SInY)

C. eNGent

iv. $,8,5° Jpeect d. oex®

it 1
(1)
(2)
(3)
(4)

oo o o -
=T e I = P ¢
N . N D

v

. & O

O BS
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24.

26.

27.

O BS

One ot the following statement 1s
true about Ca(OH), :

(1) [t is used in the manufacture of
cement.

(2) Itisa light blue solid.

(3) Itis used in the manufacture of
blecaching powder.

(4y It does not posses disinfectant

property.

A solution turns red hitmus blue, 1its
pH is likely to be

(1) 1

(2) 4
3) 5
(4) 10

Among the following pairs, one
will give displacement reactions :

(1) FeSO, solution and Ag

(2)  MgC/, solution and A/
(3) AgNO, solution and Cu
(4) NaC/ solution and Cu

While cooking, if the bottom of
vessel 1s petting blackened on the
outside, 1t means that

(1) the tuel 1s wet.

(2) the fuel 1s burning completely.

(3) the fuel is not burning
completely.

(4) the food 1is not cooked
completely.

(8)

24,

25.

26.

27.

Ca(OH), R RowoHamo3d &

FYARHNYE 2,00 XBANME.

(1) [@E, dedekst SodndIoDdd
AL pACDls

(2) A 3P O PR IR

(3) ansy BudPd Sowedid-
o) WEEETT

(4) QT RROT) ODI0T TR
BROB

200D RE0Ry) Togy OBAT o

Ned e, WOTSTATT, BT pH

(1
(2) 4
(3) S
(4 10

& VNI Dpcanvd womd TIxe-
ODAE TIVBYES £,03 BRI

(1) FeSO, mommo H3) Ag
(2) MgCl, TS By Al
(3) AgNO, Dzt &3 Cu
(4) NaCl S0 &3 Cu

VAR SETIN, TZH BATY,
Ny wDACRET  (FIET),
Zlate N ITnty

(1) QFIEO 3500303

(2) @ops ROBRREIE N
SBS=NE

(3) o3 ATREIE WON
O®swoNd

(4) ©x0F) LTodHIA

Paper-11
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28. Onc of the following metals form an

amphoteric oxide :

(1)
(2)
(3)
(4)

29. An element that

Na
Ca
Al
Cu

IS an essential

constituent of all organic compounds

belongs to

(1)
(2)
(3)
(4)

group 6

group 14
group 15
grm;p 16

30. A set of alkaline earth metals are

(1)
(2)
(3)
(4)

'Na, Mg, Al
Be, My, Cal
{Be, Mg, K|

tBe, Na, Ca|

31. Identify the Dobereiner's Triads.

(1)
(2)
(3)
(4)

Li, Sr, |

K, Sr, C/
Ca, Sr, K
Li, Na, K

32. Identify the strong electrolyte.

(1)
(2)
(3)
(4)

o

Paper-11

=%

(CH,COQ0),Pb
KHCO,
AENO,
Na,CO,

9

28.

29,

32.

B3

INT  dnptEnvd Lol

evzJod e (amphoteric) &3 &°
BVOEDTIVEEE.

(1)
(2)
(3)
(4)

Na
Ca
Al
Cu

DY TDODT  AooININYOTO
VSTTT PUITTIOE FoRR) B
oA REDT.

(1)
(2)

3)

(4)

6 € THOD)

14 3¢ oo
15 3¢ o
16 Se THoT)

50000  HRAetEnY oSt
THTHIR.

(1)
(2)
(3)
(4)

‘Na, Mg, Al}
{Be, Mg, Ca|
!Be, Mg, K}
{Be, Na, Ca]

BRWBRTTR BFITVRY, THTHSL.

(1)
(2)
(3)
(4)

Li, Sr, [

K, Sr, CI
Ca, Sr, K
Li, Na, K

TRIQ DT 2T TR, TRTOSA.

(b

(2)
(3)
(4)

(CH,COQ0),I’b
KHCO,
AgNO,
Na,CO,

O BS
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33.

34.

33.

Nitrogen atom has three unpaired
electrons. This can be explained by

(1) Pauli’s exclusion principle
(2) Autbau’s principle
(3) Hund‘s_: rule

(4) Heisemberg’s uncertainty principle

Rutherford’s

" scattering of o-particles showed for

the first time that the atom has
(1) Electrom

(2) Proton

(3) Nucleus

(4} Necutron

with  Azimuthal
quantum number (/ = —1) cannot be
present in

An electron

(1} s-orbital
(2) p-orbital
(3) d-orbital
(4) f-orbital

When
field,
experienced by

passing through
the greatest

magnetic
deflection 18

(1) o-rays
(2) P-rays
(3) Yrays

(4) neutron

O BS

experiment of

(10)

33. WURITE JOTRrDIO sHTH

34.

3S.

36.

Beetaoding wndochs aeﬂa&a‘f
NOS. ams, HFEHE 33/Rodad

(1) @Wodod 2HITCD I,

(2) BTN 3:?_3

(3) oGES NOF BRTZ JoDha
(4) LRFEWNTER WAREFHSaD 32

O RRCETE R Bo,  Fnv
Wsodoh Jolenad Domwe
TUIN RowoPAToZ BeySecw
27001 Fo@IBHROE 0T

(1) aeﬂa?waﬁ‘
(2) Rss*
(3) SREodba’
(4) mﬁmﬁ

ada&aﬁ‘d 92 ah3et aymabf
'.!30356 l esﬁgd, # IVAS oo
83,3nY Bomd wHDY ?

(1) s-88%
(2) p-uBE
(3) d-3®
(4) fe82

a-ac:a‘ieg_,d@, BoH@RTOTON
S?éﬂaf a:%eeir&mﬁag LA Te A
UL

(1) B, (a) 00
(2) 2e&3 (B) 3T
(3) T (Y) $UD

(4) mﬁmﬁ
Paper-11

Scanne d with CamScanner



37. Gallium was named by Dimitri
Mendeleev as

(1)  Eka-silicon
(2) Eka-germanium
(3) Eka-aluminium

(4) Eka-zinc

38. The smallest sized ion among the
following 1s

( | ) Ni-
(2) O+
3) Mg™
(4) A

39. The compound which contains both
ionic and covalent bond is

(1) H,0
(2) HCI
(3) KCN
(4) KCI

40. C,H, (ethene) contains following

‘bonds :

(1) 20,2n bonds
(2) 4o, 2r bonds
(3) 5o, Imbonds

(4) 30, 21 bonds

Paper-11

(11)

37.

38.

39.

40.

a0, shomdes JEcd mdobo
OB VAT BT

(1)
(2)
(3)
(4)

DE- AOFTITT

DE- BWRECVODO
DB- wmﬁmao&n
NT- 20TY (AR)

84 TYNT BOIPINYY B30 weY
g

(1)
(2)
(3)
(4)

N3~
O
Mgt
At

IToMpIEY B wESed),
uncﬁﬁ‘.’dd@d BDRODTH
TIRI0DAE HoodnE

(1)
(2)
(3)
(4)

H,0

HC/
KCN
KC/

C,H, (&3p¢a%) 2% TR0 AT
WOPNY |

(1)
(2)
3)
(4)

20, 2n 203N
40, 2 2J08TeD
56, In2ogned
3G, 21 2007V
' O BS
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41. Most light sensitive part of
photosynthetic machinery 1s
(1) PS-Icomplex
(2) PS-II compiex
(3) Carbon fixation
(4) Chloroplast division

42. Genetic dwarts are often deficient in
(1} Auxin
(2) Abscissic acid
(3) Gibberellin
(4) Cytokinin

43. Salinity in soil is caused by
(1) excess addition of rain water
(2) excess leaching
(3) rapi-d evaporation of surface

water
(4) accumulation of  soluble
minerals in the soil
44, Climax community is in the state of

(1) Equilibrium
(2) Non-equilibrium
(3) Abrupt change
(4) Change

O BS

Biology

41.

42,

43.

44,

3 moearn SFRODY STl
w303 D) T B0D,
BRODTIT TM

(1) PS-1R03¢ae

(2) PS-llRodewae

(3) Jwed'® gaea‘ﬁm

(4) BpSremIRINY Dyiud

7OETwoN  ¥haodeod -

ndd, & &x; TIDNRECAN ZNTS
AN

(1) e3x°

(2) UTRATT B

(3) ﬁag}ﬂéza‘

(4) n‘ﬁmeazpaf

djt?aﬁ mﬁsaa;cﬁ (salinity) To0ER
QOONG.
(1) it DO Y ed

AeTE B

(2) IS IWoNVE =Y 0T
23 B R

(3) aﬂ:edw afdx Denwom
E0ITODF

(4) RSO  ABIY  FOMOT
UNINY Jeauos

Soogeg  ASmoodw  (Climax

community) SOAS Sent ATHBE
(1) A"A3ptws

(2) eERINRCUT

(3) =TS’ WHRTIE

4) TS

Paper-11
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45.

46.

47.

48.

The most diversitied communities
on Earth is

(1) Temperate grasslands
(2) Tropical evergreen rainforest
(3) Tropical deciduous forests

(4) Temperate forest

Decomposition rate is high in

(I) warm temperatures and dry
conditions

(2) low temperature and moisture
condifions

(3) low
conditions

temperature and dry

(4) warm temperature and moisture
conditions |

Antirachitic factor is found in
(1)  Vatamin-A

(2) Vitamin-C

S

(3) Vitamin-D

(4) Vitamin-E

The adulterants that adulterators use
to increase the lactometer reading by
maintaining density in milk 1s

(1) Benzoic acid

(2) Salicylic acid

(3) Ammonium Sulphate

(4) Soap

Paper-I1

45.

46.

47.

48.

dadvod  ed wIos B3
ﬂdﬁqsééojasixgﬁﬂmnc: 22053
RaNTOD

(N 'ﬁ‘méeémar:’ BOEDTTITED
(2) NFTVODE THYTIE

(3) eETUDE TSI Fo

(4) WDBBREFT Tom

8 FYE0m TTRINVY  QimT
%@_}033 QOURR (Rate of decomposition)
BRNTHBS.

(1) ©OE TS DY) Bo,3

(2) 3axd SHIINS D)

3eo0d
(3) 3B ITZRI HH) HT,3
(4) VRT DT D) 3¢awo

g4 FIPTor DERNITRD DTS
QCREGE B0 BETY BOL3-0AEEIE
e303 (Antirachitic fictor) QTHZ33.

(1) ﬂfdﬂ% -A

(2) DRI, -C

(3) Q=% -D

(4) Re=As, -E

mbgmcﬁ'a'a’g (méb’.%faamu*’)
HOFT ToT oLy JPFIWw FO-
I02mo0Th WA Bwelod Sk

(1) odpechs &
(2) "OAOF &
(3) ednecdodo ﬁ&lfésf
(4) RN

O BS
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49.

50.

The absence of green house gases In
the atmosphere leads to one of the
following :

(1) The earth’s temperature would
become zero.

(2) The  earth’s
INncrease.

temaperature

(3) There would be no global
warming.

(4) The earth’s temperature would
remain constant.

following 1s not
ecological

One of the
a limitation of
pyramids :

(1) Sﬁpmphytcs have got no place.

(2) Detritus food chain is not

considered.

(3) Ecological  pyramids  do
not provide any clue to
seasonal and diurnal
variations.

(4) Food chains amd pyramids
rarely have more than four or

five trophic levels.

One of the following sequences
correctly describes the cell cycle
phase :

() G— G, —S— G,
—— mitosis.

2) S— G, — mitosts —
G, — G

(3) G”——-—:vﬁl-—-—} S — G,
—> MILOSIS.

(4) Mitosis— G, — G,—

QO BS

(14)

49.

50.

00IE0BVREE TAT TN BA-

Ny SDHDIS0DY  YVOLRITOE

Galeli DAY

(1) 2lednod oKD oS3
BT DI,

Q) Ronod SIBRRT BLRNVIT.

(3) tPndE SwdsSws 00T
IplelXpravEn [AISE
(4) PJrNod TITDID ﬁo‘mh

VOIS

AV woth [OROE TG
ROR Suodba, STOHRHOY.

(1 ﬁaﬁﬁ@ea’ﬁ 191 (Saprophyte)
TORT TG YO RIRAY,

(2) BRI  (Detntus) Eaple]
HoBDoDY, SONBDRHDY.

(3) 9HBTNING TN cﬂﬁoad
aﬁﬁméﬁrwaigl
SONEIRTOD Y.

(4) ©TC KOS Tonwe HBORT
BTG RO E N 4
eFse 5 8,08 2R SRCHTD
HondRy HHRY, |

QYNFE 2000 TNy BE-

2ned BRI (€$T,W) DOINEEY

=0o3N :'uaz&rbgcﬂ
(1) G, — G, — S — G,
—_— EgDLFJDEJTJE

3) G, — G, — S— G,

(4) SopsorEt — G, — G
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53.

54.

The functions of lysosomes in plant

cells are assumed by
(1) Golgi complex
(2) Endosome

(3) Vacuole

(4) Peroxisome

The hormone which is sccreted by

the intestine, the delta cells of

pancreas and the stomach is
('l‘)“ Gastrin

(2} Cholecystokinin
(3) Somatostatin

(4) Secretin

Prions are composed of
(1) only DNA

(2) only RNA

(3) only glycoprotein
(4) both DNA and RNA

The organism which is estimated to

| : .
produce 4 of atmospheric oxygen is

(1) Protozoa

- {(2) Anabaena

(3) Euglena
(4) Diatoms

Paper-lI

(13)

52.

53.

55.

%mdwemf meh ﬁ‘?dé e TRCS-

nvd Fouthyby. B Joes-
nvd) dRerdnes iy sobes
ATE LTDOITUEEE BTN

(1) ™8 Koderas
(2) QoBREAREIT
(3) OR@ER

(4) VoodRRERE

HoReeReos ToPod Beupdnes.
e, W DX wWEU. & eon-
Y TDdorhs TBweeats
DR

(1) TR

(2) BdRpERDT
(3) AemBomy L35
(4) RIEST

OIWITND [PNVoR IRV
(1) DNA @wg,
(2) RNA 3%,

(3) 7 peeapstieatnd SN,
(4) DNA a3 FNA QOGS

TISIRT BT STRRDB
RWEORD Fowd RNDED,  LeRRNT-

SRy 8 IWeom  Lomd 2R
SVZVEFDIT DOTH BOTIRLONT
(1) pgldeemes
(2) TR
(3) o3wAT
(4) @oILITHE
B BS
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56. Astigmatism occurs due to

(1) Loss of elasticity of the
lens.

(2) Deformity of eyeball.

(3) Increase of intraocular

tension.

(4) Uneven curvature of the

comea.

§7. Identify the cattle breed which yields

high quantity of milk.

(1Y Gir
(2) Sindhi
(3) Deoni

(4) Sahiwal

58. Germplasm theory of Organic

evolution was proposed by
(1) Weisman

(2) | Lamarck

(3) de Vries

(4) Darwin

O BS

(16)

56.

58.

wReD G@odweei  (Astigmatism)

ATBOE LVOERMTA.

(1) =RCH IF 2IWIES.
oD, ﬁém%@%@dmd

(2) 3STHE QTR TeTM-
ylatelsle

(3) EBQVNT L.3ES HdIN0T

(4) ToorodNg) TWCTITITN-
8Dy [ATITADIvtalelay

DUT Toen MZTEI  TREWY
BRI SDOD, DR,

(1) ATt
(2) R0
(3) &odeeR

(4) T

263 DFTARR WRTETINO ATROS-

DY (Germp'asm Theory)
0BATRT
(1) SrI*
(2) eREIETE
3) B IF°
(4) GINERT
Paper-Il
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59. The term that defines, the formation 59. AP w3eTOsn®  (Vertebrates)
of comparable external body IEa3 BRosydToda=os
parts, with cnmpfirable ' ‘bune m.}ﬁm% Bexs mﬁﬁ@dﬁg‘, 2
structures, but having difterent 3
function n difterent vertebrates _&).:'.):‘;5’ TOODETIVRY mmg :
is QI BFPE T DA,

(1) Missing links (1) o FRoBTID
2) Vestigial structures (2) edem eszobhaned
(3) Analogous structures (3) m‘aﬁ:z{ﬁ eaoTiTTes
(4) Homologous structures
(4) TNTRD LONND
_ I

60. The stages of hwman ancestry is 60. & Iy sﬁtéﬁgﬁ PANAIATRTY
given below, identify the correct RPICRT  BOINTSY, TdTmN
sequence. TOTOSA.

(1) Homo habilis — Homo () =eEdee AR —
BRCRRC Qoo ET ot
neanderthalensis —— Homo Wi md@fﬂ
| — BREBRE AVIRT ——>
erectus —— Homo sapiens Baedne 2 SODS
(2) Homo sapiens —— Homo (2) TSt ﬁ&@bﬁi =0
erectus —— Homo habilis Batanee QGW
. | Secthalers BRCIINRC ZNOT —
—— Homon rt
> fieandertidiensis Btne DoIPoETEYES
(3) Homo habilis —— Homo (3) D|ReBNRC ZNORT —
erectus —_— Homo BRETE @ﬁiﬁb‘ -
- | BRCINREC
neanderthalensis —— Homo Dodjantﬁﬁmdbﬂﬁf
| — DR Ad oD |
sapiens
(4) TocSwe R)&mnddmdw
(4) Homo neanderthalensis —— — DREZDE TNORT —s
Homo habilis —— Homo BReee aﬂiﬁ:ﬁe -
DRCDNE RE
.erectus —— Homo sapiens NEODT,
Paper-11 O BS
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61.

Match the following with the
cells of phloem tissue in Column
I with their functions in
Column 1. Identify the correct
choice :

Column | Column I1

a. Sieve p. Long row of

elements cells
specialized for
transport of
food.

b. Companion q. Specialized

cells structures bring
about
exudation  of
food.

c. Parenchyma r. Living cells
concerned with
storage of
organic  food
matter.

d. Fibres s. Elongated cells
provide
mechanical
support.

t. Small elongated
cells help in
conduction
and control
of food
matenals.

a b c d

M p t q

2) p q9 r s

3) p t r S

4) p S { r

O BS

(18)

61.

Tty - 1 08 2ntIthd glp oo
Sl laplelola zzfaﬂa’mfefn"ufa‘igt 38 - 1
o1J) 'u’d‘.‘:%ﬁ)ﬁ SN FVODENY
203N DRODY pr{alossp]a]
mgﬁﬁz& 5D 2.
NQ-I HQ-H
2. OB p. A% BeIINReY
OB NYNW B8HT
KOV T0 ToOWE
I, AT LIS
b. Rorm q. ©b5F TEINTONT)
2 BNRCS S TIUD RREINTEN
0N
. ﬁeﬁu'u:fi: r. 2003 2edecs
n’%ﬁmé SEpie]
DIVPENYIY
ﬁu@&:&&&&-
‘u’@n&tbgd.
d. ST 5. NeYISE BeTEINRCT
nyos ab'aca’ud%ci{g
T
i:’,:rcé:rgd.
t. 283, AC¥ BRESNYD
ﬁxg BTOT WIS
2)3) dobhoZpnd
ATIOD TW0EBE.
a b C d
() p t q 1
2) p q r S
G) p t 1 s
4 p s t T
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62.

63.

64.

The nucleosides of DNA are

(1) Deoxy-ribose sugar + H,O

(2) Deoxy-ribose sugar + nitrogen

bases

(3) Deoxy-ribose sugar + nitrogen

bases + phosphate group

(4) Deoxy-ribose sugar + nitrogen
bases + phosphate group +

water

If am individual 1s heterozygous tor

both characters as 1n F, in

Mendalian Dihybrid inheritance is
test crossed wiuth double recessive.

the phenotypic ratio obtained 1s

(1Y 9:3:3:1
2y 1:1:1:1
(3) 1:2:2:1
(4) 1:2:3:4

The female reproductive part of

polysiphonia is called

(1)  Qogonium

(2) Carpagonium

(3) Female conceptacle

(4) Female cryptoblast

' Paper-Ii

62.

63.

64.

DNA  ©mds)  Bomwdhss

M&Q_oiraﬁffrﬂfa

(1) awg-ca"}imw RGT + D
(H,0)

(2) Guddplers® AR + JPRL-
e~y %T;J_Frf%":

(3) BegBpeca® %88 + JEde -
B FONED + PORLEST
TOOY

(4) ae:sg_:d-ﬁ__f.lmm*‘ B0 + 5&1@3-
%R FY O + PoAFLs®
o) + eTH

omdod® EEPGET vdTode-
odhBZod F, J& «god 2.0m
200N TGS msamawﬁbﬁ
BESHYNET B8N [V TR

Bed  Uxf RT  SREEen
Sntodne é,’an’:mt‘tﬂlfﬁﬁ' BIOTD
() 9:3:3:1

2) 1:1:1:1

3) 1:2:2:1

(4) 1:2:3:4

SoORRREAODT  Beay WOTIE-
2o BNy TR

(1)  enaneeodzH®

(2) FITENREQCDHISE

(3) e PITADEFLT

(4) émﬁ W&i@emﬁﬁg

O BS
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65.

66.

67.

68.

O BS

Mulberry, tusar and muga are the
varictics of

(1)
(2)

leaves eaten by silkworms

cultivated silks using different

silkworms

natural silk

(3)
(4)

process of separating the silk
fibre

The bee species which is not
possible to domesticate is

(1) Apis cerana indica

(2) Apis indica

(3) Apis dorsata

(4) Apis mellifera

The connecting link between
Annelida and Arthropoda is

(1) Lepidosiren |

(2) Ornithorhynchus

(3) Peripatus

(4) Sphkenodon

The techniqgue of DNA finger

printing has been developed by
(1)
(2)
(3)
(4)

Kary Mullis
Maurice Wilkins
Baltunare D.

Alec Jeffreys

(20)

65.

66.

67.

68.

SHeTeled, LRUTT DF =oen
QAT

(1) T, BNy 3T adnieh
(2) A7 Bk BHndos
eZRAT FHIedn? Tew,

(3) IENET Te,

(4) Tem, QINIR), Lems RO
DT

WEKed  IREWw WEAYT

eddncor wpleIERY, OO,

(1) Q&% AT wols

(2) DNOFF Q&

(3) OIEF @IALED

(4) o&&® Dodgieoo

SUOHToD WX eenROnY
SENN RNOOSRET TROR

(Connecting link) o), TOTHSA.
(1) d&dﬂﬁﬁ#

(2) & PREDTAS

(3) ﬁamémsﬁ‘

(4) 'ﬁ.n:;ime GGom®

8O0, ov) oSSRy
V)FRTBAEH -
(1) %0 Sr*
(2) 00RT DO,
(3) wodBnetct. &.
(4) o7 A"
| Paper-I11
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69.

70.

Elasmobranchi is the group which

includes

(1) Lung fishes

(2) Cat tishes

(3) Cartilaginous fishes

(4) Bony fishes

Read the statements A and B.

Indicate the correct choice from

these given below :

Statement A — Insulin 1s a small
protein. It consist
of 51 amino acids
in A and B chains.

Statement B — A polypeptide

chain consists of
21 amino acids and
B-polypeptide
chain has 30 amino
acids. These chains
are linked by a
disulphide bond.

(1) Statement A is true, B is false.
(2) Statement B is true, A is false.

(3) Both the Statements A and B

are true.

(4) Both the statements A and B

are t'alseT

Paper-11

(21)

69. B8 BJToOm NCHNY ?.?..\'J?: 20003

70.

au—’mé@n% rHodn NETHZE.
(1) IR Qwedrieh

(2) éaaéem (T,E5% W)
(3) RFR oead
(4) 9% PRI

BeD2-A DR EePE-B, B QTG
2ePINTDY, e, 9N i:atacbas
Tode3nPord ROOIIE LVSTTIY
e30%,z08.

2093 A — fHOFT .00 ‘ﬂmm
BPLsest SRy AET A & B
HOSPNYY 51 edRe 8
2RODT.

=02 B - A m@aﬂaglfs“ prierald
ohd 21 eHPe BNYY,
=03 B méﬁ% N priofsity
oD 30 eDRe HIYRY
DRoOD. & FOJONWD Cu:i
'ﬁtEJ ST wognd  S0weT
d.raeaﬁ'aggtﬂ.

(1) 3edDF A =Tdoiwnd, B
a’mﬁaﬂ.

(2) ®BeDE B FOIWAD, A
smj\d.

3) Jedd A DR B D@
TOoN.

(4) JePd A IR B 0@
=Liplalal

O BS
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71.

72.

O BS

Mode of nutrition 1n earthworm is

(1) Holozoic
(2) Cﬁprﬂznic
(3) Holophytic
(4) Saprozoic

The culturing of undifferentiated cell
mass which are Initiated from an
explant of seedling or other plant

tissue source 18

Callus culture

(1

Tissue culture

(2)

Organ calture

(3)

Protoplast culture

(4)

The technique which is carried out to
confirm the presence of foreign

DNA in the offspring is

(1) Western blot
(2) Tail blot

(3) Elisa

(4) PCR test

(22)

71.

72.

73. To330DHd

VEDIVOTHR FpeReo 3R

(1) DBedeedadhs®

(2) BepLARONTT

(3) Brdagpss®

(4) mMBPFEPCNT?

BRVIOD DNRTIE BFD0 NET
QT STORR
B2 ednUna 2B ReS BohN®d
S, T W@ QT

ZleIaplerAleln)

(1) a'aéuﬁ EE')&

(2) ©oreo3 %&

(3) onea’ sk

(4) FBpReeTIE] I

JoEeod od
RTAToHD, GFETERD Ak
2903 F PORE TR

DNA

(1) JEHIE 2Es*

(2) &Pf 2TE3°
(3) 2O
(4) PCR &0,

Paper-11
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74.  When a cell expends energy to move

a solute across its membrane against
a concentration gradient, the process

is called

(1) Difﬁjsipn

(2) Facilitated diffusion
(3) Active ttansport

(4) Osmosis

75. Syphilis is caused by the virus
(1) Vibrio cholerae
(2} Neisseria gonorrhoeae

(3) Clostridium botulinum

(4) Treponema pallidum

76. The special channels found in

plasma membrane for  water

transport arc

(1) Porins

(2) Aquaporins
(3) Permeases
(4) lon pumps

Paper-l1

(23)

74.

75.

76.

oI ReDTReIYH  ToomBod
DT, HTOFgIeN vod BEUE
SONUE FLohRy NFDRTON, 8
B,8,000DY, &ert FBodoaod

(1) SRT
(2) ATon [RTeD
(3) 303037 xories

(4) er'wée.?mﬁ‘

3 Bty ADHOTS Swend,
Lol ala) |

(1) DdD3ee :uT

(2) Spdodn Reedeedodn
(3) TRl @OD0 alaetdTRE
(4) B3RP 0G0

QBT merieddon

BATTFOTY vomd wohs Diew
oY DRTH

(1) apost,
(2) ewEoRt
(3) |/O,0eATE

(4)  eoda® JoTHrivd

O BS
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77.

78.

79.

80.

The cell organelle having halt unit

membrane 1S

(1) Ribosome
(2) Sphaerosome
(3) Lysosome

(4) Peroxisome

The path which is often called

facultative pathway is
(1) C-3 pathway
(2) C-4 pathway
(3) CAM pathway

(4) C-2 pathway

In glycolysis ATP is synthesized by
(1) Fructose 1-6 bisphosphate
(2) Phosphofructo kinase-1

(3) Glyceraldchyde

dehydrogenase

3-phosphate

(4) Phosphoglycerate kinase

Chlorosis in leaves is generally due

to deticiency of

(1) Magnesium and Iron

(2) Calcium and Iron

(3) Chiorine and Magnesium
(4) Calcium and . Sodium

O BS

(24)

77.

78,

79.

80.

omy o 3w (half  unit)
RRTOHTY, BROLTOT 2T TNRCBT
Frazon |

(1) TpweReess®

(2) 'fh Fmeﬁ.raea:bf

(3) bﬁmmeaﬁ‘

(4) SO0yt

TSRRFN ODRTE 338,00

T (facultative pathway) &
Gerfonh TEoDUITHBE.

(1) C-3TF
2) C-4ZF
3) CAM S
4) C-23g

1 O B oloh ATP oD
R0 PEIADE $E9,

(1) Fructose 1-6 2-2,:.,:"’3"’1;2&39

(2) PoRRISEINT TRCAS-]

(3) ARCOBET -3- PR &
éﬁ@ﬁéeﬁ

(4) Wm:g;ﬁﬁﬂfw" sﬁmﬁ‘

TSR EON 8 FadnY 2RTE,
RENY UMY TRECHVET BVOED
asplesicta |

(1) oendodo =HF) T

(2) Eafs@dodm R ﬁz?_]m

(3) BRDTT SH!) TR0

(4) ﬁégoi:o =y RpeBoDo

Paper-Il
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81. Testing improves learning because
(1) students study well.
(2) result of the test helps in
reinforcement.
(3) tests provide feedback for the
whole unit.
(4) answering ﬁbility of the
student is developed.
82. While preparing a unit test in
Science, a teacher should first
(1) prepare a blue print
(2) write the questions
(3) write the key
(4) identify the difticult areas
83. “Suspended Judgement is the
greatest  triumph  of intellectual-
discipline.” The characteristic of
sciemtific attitude reflected in this
statement is
(1) Open mindedness
(2) Clarity in vision
(3) Curiosity
(4) Unbiased
Paper-11

Methodology

(25)

(Chemistry and Biology)

81.

82.

83.

TDeg 030 FOTOHT), TFIORITE.

LT3

(l)' DTALRHETI 23 STADRY
EROTIT.

(2) =B od FOI0IFH PHIT®
D& eFTeE, HBHooDHTD.

(3) oedodn NomprE TS,
o=0,08 FNEZE.

(4) DIPENVOI  LVIOTWY
RODFE FHROITRH .

DRI PT  Foed oday
cloNiplafretaplal é%a’ SRTICD
SR ELICTONTOR) T

(1) Dfadi cleNyplapinitny

(2) [INYIR AnfoNvirnIns!

(3) %O eVZTrY, WloloRHm
(4) 3§ woBnvy IR

“SEJERY, TIORDROYW aﬁ%ﬁ‘

AT DToIWOD". B BRI
NPT RLCLIDD T
VE OB B30I,

(1) Do ey
(2) BAY G
(3) BIDV

(4) TPT[ENBIVE

0 BS
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84.

The first aid should be provided for
the wound caused due to acid burn 1s
to wash the wound with

(1) water and then with saturated
sodium-bi-carbonate.
(2) 1% acetic acid and then with
alkali.
~ (3) alcohol and then with water.

85.

water and then with alcohol.

(4)

The suitable method of developing

laboratory skills

(1) showing the experiments in
laboratory.

(2) teaching by project method.

(3) by providing opportunities for
experimentation in the
‘laboratory.

-(4) by discussing the experiments
conducted by the great
scientists.

86.

O BS

The best learming experience among
the following :

(1) discussing about enzymes

(2) student  experiencing  the
liberation of heat by adding
water to calcium oxide

(3) preparing a chart of extraction
of iron in blast furnace

(4) listening to a lecture on
importance of catalyst

(26)

84,

86.

aHR0T AEIECDT, TRTTRWT-

Dr B[R s, DT TRODENY

(1) dderd  evdd S0
EYAueNx oy Rododo )
FOLRE BEEITNOT BRYOND.

1% e22435° 3508 3RID
S03C J[@esR (FT) QoT
2nvodbeles.

(2)

(3) wdnrtHufaod 3RV
J03T0 DRI Sndadlew.

(4) [wdord eV SoIT
asdR@Utor Anevobles.

E3ReAT  TOTUSRY  WYALD

BRTT adga

(1) = Soletmeodhsd
B odnentrid, 3RCOTH.

(2) oclnt=ae Aiaphlalela)
23 ne BT

(3) Jodweert TJon olacr:
MYy SREe 8TTINYEY
DI . |

4) RS WM aRed
Bednenny W} LBEROHT.

& FIAIPNYO H@bﬁ:ﬂ:}md

3OFodh ¥

(1) sene/ W} IERITIH.

(2) DEAHEOID L nga’ﬁ Z0a3e
e W8 Toslet3oday
Moo AR 0.

ARl w%‘dmcs 2,000
230830 SoOTRHI.
Senmgesny  @RnSoD
203 oW VBTN
BeHaH .

(3)

(4)
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87. Deductive approach can be
illustrated by
(I) declaration of presence of
glucose by benedict solution.
(2) generalisation that  water
produces  hydrogen  with
metals.
(3)  conclusion drawn experimentally
tieat acids tum blue litmus to red.
(4) seeing mercury as a liquid
metal,
88. The ability that can be developed
through Heuristic method is
(1) Divergent thinking
(2)  Verbalising the law
(3} Sketching a figure
(4) Balancing the equation
89. Both investigation and verification
approach are used in
(1) Inducto-deductive method
(2) Laboratory method
(3) Lecture demonstration method
(4) Scientific method
Paper-11

(27)

87.

88.

89.

N BZI0DF, B o
NP EDRITOD.

(1) R63° mm=eetor nedeemt-

3 *ao‘:::)a’o:b;gi TARCAFDTIHTD.

DY Adnetxzndnodn Jacy
RORITIY,  IREJHEIY
mmaﬁeamq,m.

(2)

(3) s ed IR, Fog)

RIS Do Z3ReN3-
oM 3eTIE IR T.

(4) ETRY Lo TE 08

JRea 3DonTHS.

RO  WoBReFTo ﬁg’&cﬂ:ocﬁ
d#ﬁuﬁ:mcﬁmmqsésq;

(1) O 2302
(2)
(3)

(4)

QODTHTRY, miﬁ;ﬁﬂmbxbzé)mb
AT, DA
ReDEITLOTITY, ROWANRIITH

eeieasfm DoNE T Zad

ReeT WRNENIOERY, WIS
B2

(1) ODPRDI-IND T3
(2) Jodner Zoen ﬁcé@
() wEmE 53 S
(4) ST TZ3
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90.

91.

92.

An instructional objective contains

(1) anaction verb only
(2) the expectation of a teacher

(3) the achievement a student

makes

(4) the content part and behaviour

modification part

The following statement best

explains, the unit :

(1) A collection of topics on

random basis.

(2) A collection of topics on some

conceptual similarities

(3) A collection of topics on the

basis of difficulty level.

(4) An arrangement of content in

sequence.

The

improvised apparatus 1s

important

(1) based on concept
(2) made by available resources
(3) done by teacher

(4) the replica of the original

O BS

characteristic of

(28)

90.

Wnegteeedd) tneotths Bw
(1) $o3wsE S0,

(2) 2T ES VT ML

(3) DTRE I TR FIpIATY

(4) DFod en DI Kvged

DSE R0 DOTFO TN

2 eDIodn TIT 0RO

o, BV DTCHBIPAE,

(1) oIwGEs wEwos mony
ﬁnrjﬁﬁ.

(2) SOFURNY I oDTHOA
TIONY ROTLTH.

(3) 3gBod SLITTFOA
TOBNY HoT B,

4) O=EclTR, TFosnSodd
2 RCATOLS FON.

02. OpId3 LITTCLNY B3 S0

0 THER0ET

(1) =OTRAN T02)0HATLIEH

(2) . BRTB ToHNFIRos
SEOETLIEE.

(3) mmméoﬂaandde
SPEOE T,

(4) =eo e;s%aﬁ ma:a%;)ﬁziea
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93, The unit test evaluates

%4.

9s.

96.

(1) objectives only
(2) learning experiences only

(3) both objectives & learning
experiences

(4) learning situation

Lesson plan helps the teacl.her to

(1) modify his behaviour

(2) savetime

(3) develop confidence in feaching

(4) keep class in silence

One of the following is not the
characteristic of first aid - |

(1) it should be immediate

(2) the person who administer first
aid should be confident

(3) there should not be too many.
people around

(4) the should  be

hospitalised

patient

Science centres are

(1) places where Science is taught,

(2) established by the

Govemment.
(3) found in each school.

(4) centres to popularise Science,
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The tollowing objective cannot be
raised by Computer Assisted
Instruction (CAl) :

(I} Cognitive
(2) Affective
(3) Psychomotor

(4) Conative

The characteristic of computer
multimedia for teaching is

(1) Sequencing and reinforcement
(2) Interpretation of data

(3) Question bank

(4) Statistical analysis

A representative of phylum / group
can be taken as an example while
teaching Biology through

(1) Discovery approach
(2) Type-species approach
(3) Problems-solving approach

(4) Inductive approach

This is the most 1mportant
professional quality of a Science
teacher. He should

(1) participate in seminar
(2) write articles in Journals

(3) be capable of answering

questions

(4) be a researcher and do
extension education

(30)

97.

98.

99.

100.

neesodod, usdE etpddes
B4 VBT, MR VRO

(1) WRIZE

(2) ORDT,3T

(3) DVINRCPUTIT,T

(4) BAJe3nt

BOTREITT Al:ebnplafatla)

negdod mrows

(1) ®Tod WA DR
PHNWE VS

(2) CSPINY, VTR
(3) J3, dweed
(4) WosnRIYE T DR

2,000 W[REM0AT T BIHODT

V@B TR oI 202 TROT
aeami ST, LIPS DFOD

(1) eo8exm g

(2) =00 JINE T

(3) ﬂﬁ:ﬂé D0FTT aﬁ%&
(4) QoD ATRTH HRES

DR BRGNS FBBOTohy

@amm’oa €33 E.i:oa.mﬁmt:ﬁ
™HE0TRT

(1) T - RodTeanv'd)
2O &3 QoA T30

(2) AoHIFOINTY eIy,
A[efevarlniint!

3) JI3nen VST
QN EITH T

(4) RoRRePIIN ALNelicD
33 o SeSRNIHT

Paper-I]

Scanne d with CamScanner



EXAMINATION CODE: | ()4 | HSTR-2

2ep Todes - Setomtd Toad

B3 w3 BT - QIeon B3

(3, 52 2obS auy Reusnvay Soddisy bo)

b

L

ATOD . TIHOONT ﬁ@, :aeaﬁmg

MO osnieh : 100 MOE =P : 2.00 Totdnes o wedes: | B| S

10.
[1.

vyl penlnt BRI

100 B3RS Sesoonchs BFTLE BFoDY DA £.020.60F. YUZT T,Fowd u@EERe0as. Ans dedr egwNd.
Dt VeFwoncE B, B3 Fodn IBed SZFYHToT AP goh,mnainea dxohE B Fohe QOWEI
RESARILRID.

BB B Fod BeOR B3¢ 2NSRESAWE DAY VEFTNTHES 1,.600.680°. D& $0IT B3 Fod, BesIriad, L.wo.Lo".
030 BFobY O FbIoday vt RTSEFIANE gabmoa), 1 Box 10 TTTne e SHA. 3230
SRYSRTIRY wootsrds e DY SomdnR Qeade LT

Db 2ntiches BEBFoD Fmoadobil TN AEATHE L0080, LUZ0 B BoDOR Famoss 4 TY I WG,
e Bob,RA 2B DFob RodeITy b.20.L0F. 20I0 HIFOHS Fibmoal, 9 UY HBE TG,

H[OeE, BIoDD : (1) T JB oD 2nCRE3N0R WAD. (83) T3 TB eBERNTON ToL, VSTV #Md
PVZTII, Fo@PAAND. (A) L.0.8T%. LVZT B3 Fohd B3 T WO Beordss LITH, rHTHIXD NeBRNTES
oL, RPN PP BoodRE FFay AedrR, Foolod RO HAE B¢ wo, evsoletht THDHD SRA. KumaEsHi,
2ot B3, BFoDT 20 S BB oD XD LIV TR0 (3) ¥NGD t.20.890°. LVZT B FoDY Fimos); 200
Sood 83 v 3VATHT Bedob JedrFRY, 9 Toddoks® B¢ engoleeNd FFTH, TOTHD SREH.

20D @ @ @ (o= vvmzosang)

SEBEE Daod PNV and won DITHRO T, LVFTTH, Fow LBOIT T2y, FooDESR, (OF° FF'E)
SREIER. 315 FIODE T, L.00.8T7. WITHSFoLY INESFRY. _
oG BB CVITION 2,058,038 e PV, THHD FREITED. YUFIBTHODT b.530.L0° eZoB3Fod el
LANADROR) .
3,.00.890°, QUITBEFod AN FVAY LBE Tore SRTE $0eDpTFD I/ Ko SIRGLIED. INQS VSR
FEoRTN BLRE QBTY B OO MO, BRI, 2QOOPHD & olnde Dedodh WFUITBAVEY ST
SR BY. '
A VIDRED DERTHE ..020.850° £0ZTHIFodo Fawed® T3 Bdoleolr s, @oeF), LS NG FoT, LUZOVAG
R0 b20.80°. QIITHIFOHY RTA HeNUTOR LAXIHER. TS ThT FBoHRY, By, HTOR
QUHFRYRICR.
Toesy devholev Fe, MetiDF, Sem0T R Bt Zegaoriod IHPHIR AREPAT.
HOtw, AHoHHY ot Dedod YFTET Fod worl woTTHTRY, MM pBedySord TOMdl WIS 8, FoDTY
oF, SREPOY I AODTRWBIT TR HOONTTORHD. |

8,.00.40°. NITXS T YIE SRAEW TRWSIW

(1) Z3dnomd BFe 2,003¢ 2,000 ROOW Emgt:facbgti (2) §@nvR ed egme I wour Zodoots® SN0
03, Bozlesd. YITHY oG ed WEOTD SobhdFuea. (3) FZrvYTHT Woanwd Foralsod F3EeY
Rompeae o Soweles. (4) wu3THFodh adbed cIeyae Bedod T, NELd BP0 g o3onde S[NELRTD.

(5) amd sowER’ TL3 wgdﬁgé. uug;dai.;_ﬁoj: NO@ESe TBodT @Sﬁea‘mh 2o Bn3, A,

Use e-papers for Save Trees

Above line Hide When Print Out-www.InvaTrust.com

Scanned with CamScanner



